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Приложение № 3.

Самостоятельная работа по 4 вариантам (дифференцированные задания).

Вариант 1

1. log  ½ (2x + 3) = 0

2. log0,1 (x2 + 1) = log0,1 (2x – 5)

3. log22 x – 3log2 x = 4

4.  
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5. log2x – log  ½ x = 4 

Вариант 2

1. log  3 (x + 5) = ( 1  

2. log2 (x  + 12) = 2log2 x 

3. log32 x +  log3 x = 6

4. 
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5. 2log5x + 2 logx 5 = 5 

Вариант 3

1. log  0,2 (x – 1) = 4  

2. lg (x  + 1,5) = ( lg x 

3. 
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Вариант 4

1. log5  log3 log2 (x2 +7x) = 0
2. log5 (x  ( 1) + log5 (x  ( 2) = log5 (x  + 2)  

3. log2 2 4x +  log2 
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4. xlg x = 100x

5. 3log x 16 ( 4 log 16 x = 2 log2 x
Вариант 1
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	уравнения
	ответы 
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	log2 (x  + 12) = 2log2 x 
	4

	log32 x +  log3 x = 6
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 Вариант 3

	уравнения
	ответы 

	 log  0,2 (x – 1) = 4  
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	lg (x  + 1,5) = ( lg x 
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 Вариант 4

	уравнения
	ответы 
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	3log x 16 ( 4 log 16 x = 2 log2 x
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